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Linear relation CIELAB ( L*, b*) and adapted (a)CIELAB ( C*4p o L*)
Television Luminous System: TLS27a e = (L =L )/ (Crw =LA )
at,=at
b*, = b*

Crapa=lats’ +b'’]

CIELAB hue anglesRYGCBM:
hapg = [31, 103, 137, 196, 302, 327]y .
hap,e= [26, 92, 162, 217, 272, 329]

112

Yol a*3=C*ap,2C0S hy
b*3 = C*ap aSin hap

chroma a*,

Similar to contrast step Gypy
according to 1ISO 9241-306, see

CIELAB data and Y for W and N:
(L*, a*, b*, Y)=(95.41, 0.0, 0.0, 88.59
(L*, &%, b*, Y)\=(26.85, 0.0, 0.0, 5.04)

Linear relation CIELAB ( L* a* b*) and adapted (a)CIELAB ( C*ap o L*)
Television Luminous System: TLS38a Flap = (L* =¥ ) / Ly -L¥ )

a=ar
bt =b*
Caba=

CIELAB hue anglesRYGCBM:
hap,q = [28, 104, 138, 196, 300, 327]b*

hap e = [26, 92, 162, 217, 272, 329] &

* 2 pe 27102
[a%a" +b%3"]

%5 = C*ap,aCOS Iy
Yel b*5=C*ap,aSiN hapy

chroma a*,

Similar to contrast step Gypg.
according to ISO 9241-306, see

CIELAB data and Y for W and N:
(L*, a*, b*, Y)w=(95.41, 0.0, 0.0, 88.59
(L*, a*, b¥, Y)y=(37.99, 0.0, 0.0, 10.08

Linear relation CIELAB ( L*, a*, b*) and adapted (a)CIELAB ( C*5p 5 L*)
Television Luminous System: TLS52a e = (L =L )/ (Crw =LA )
at,=at

b*, = b*

CIELAB hue anglesRYGCBM: S
Crapa=[a*a" +b*3"]

nabdf (24,105, 140, 197, 207, 327,
hap,e = [26, 92, 162, 217, 272, 329]

112

a3 = C*ab,aCOS hipy
b*a = C*ap,a Sin hap

chroma a*;

Similar to contrast step Gypy
according to SO 9241-306, see

CIELAB data and Y for W and N:
(L%, &, b¥, Y)=(95.41, 0.0, 0.0, 83.59)
(L*, a*, b, Y)y=(52.02, 0.0, 0.0, 20. 15)

Linear relation CIELAB ( L* a* b*) and adapted (a)CIELAB ( C*ap o L*)
Television Luminous System: TLS70a Flap = (L* =L ) / Ly -L¥ )

a*,=a*
CIELAB hue anglesRYGCBM: *a_ >
Nap,a = [21, 107, 142, 197, 293, 326}, b*a=b
hap.e= [26, 92, 162, 217, 272,329] ~ 2 C*aba=

:
|

* 2 e 27102
[a%a" +b5"]

%5 = C*ap,aCOS Iy
b*5=C*ap,aSiN hap

Ye
chroma a*,

Similar to contrast step Gypy.
according to ISO 9241-306, see

CIELAB data and Y for W and N:
(L*, a*, b*, Y)w=(95.41, 0.0, 0.0, 88.59)
(L, ", b¥, Y)=(69.69, 0.0, 0.0, 40.32]

AEV1TN
UB-test chart AEY5; TLS27a, TLS38a, TLS52a, TLS70a  input: w/rgh/cmyk —> rgh

d CIE elementary hue data in CIELAB diagr@h b*)

output: no change
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